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Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (2 x 2 =4 pts.) Evaluate the limit, if it exists. Give reasoning.
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2. (4 pts.) Write an equation of the tangent line to the curve y = % at = 0.
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3. (9 x 1 =9 pts.) Determine whether the given statement is true or false.
Indicate your answers by typing TRUE or FALSE. No explanations required.

(a) If f is continuous at a then it is differentiable at a.

TALSE

(b) If lim f(z) =0 and lim g(z) = 0, then lim @) does not exist.

r—a ,\: A L_ _S é_—m r—a g([lﬁ')
(¢) If lim f(z)g(x) exists then lim f(z)g(z) = f(a)g(a).
FALSC

(d) If f is differentiable at a then it has a limit at a.

TELWE
(e) |22 + 2| is differentiable everywhere.

TLLx

. 2
22 420 — 2 :lcgn%x +2x — 2

f) LI =
() xlg}x?%—é%x—? 1i1qx2+8x—7
r—
TLWE
1
(g) lim — = 400
z—0 I —
ALS ©
x?—1
h = 1
(h) o 93+’
TALST
—
(i) lim =limxz+1
r—2 I — r—2
T wc

4. (242 =4 pts.) Consider the following items.
(e>0 (2)0>0 B)0<|z—c/<o A)|f(x)—L|<e (5)|f(x)—L|]>¢€e (6) but
(7) such that (8)for all (9) thereis some (10) there is some z (11) whenever

(a) Write the numerical sequence for the definition of lim f(x) = L.
Tr—cC

FI-A-9-2-F-0(-11-3

(b) Write the numerical sequence to form a rigorous assertion that lim f(z) # L.
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